



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\frac{2}{5} + 5\left(\frac{1}{3} - 5,4\right) =$$

$$2,1 + 2\left(\frac{1}{6} + \frac{2}{3}\right) =$$

$$\left(2,3 - \frac{1}{2}\right) \times 4 - 2,8 =$$

$$6\left(3 + \frac{1}{3}\right) \div 2 \times 3 - 3,1 =$$

$$6\left(\frac{2}{3} + \frac{1}{2}\right) \div 3 \times 2 - \frac{1}{3} =$$

$$5,6 - 4\left(\frac{3}{4} - \frac{2}{5}\right) =$$

$$6\left(\frac{1}{6} + 5,9\right) \div 2 \times 4 - \frac{1}{5} =$$

$$\left(4,1 - \frac{1}{6}\right) \times 3 - \frac{2}{5} =$$

$$\left(\frac{1}{3} - \frac{1}{4}\right) \times 5 + \frac{2}{5} =$$

$$5,9 \times 20 \div 4 - 2\left(2,9 + \frac{2}{3}\right) =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$\frac{2}{5} + 5\left(\frac{1}{3} - 5,4\right) = \left(-\frac{374}{15}\right) = \left(-24\frac{14}{15}\right)$$

$$2,1 + 2\left(\frac{1}{6} + \frac{2}{3}\right) = \frac{113}{30} = 3\frac{23}{30}$$

$$\left(2,3 - \frac{1}{2}\right) \times 4 - 2,8 = \frac{22}{5} = 4\frac{2}{5}$$

$$6\left(3 + \frac{1}{3}\right) \div 2 \times 3 - 3,1 = \frac{269}{10} = 26\frac{9}{10}$$

$$6\left(\frac{2}{3} + \frac{1}{2}\right) \div 3 \times 2 - \frac{1}{3} = \frac{13}{3} = 4\frac{1}{3}$$

$$5,6 - 4\left(\frac{3}{4} - \frac{2}{5}\right) = \frac{21}{5} = 4\frac{1}{5}$$

$$6\left(\frac{1}{6} + 5,9\right) \div 2 \times 4 - \frac{1}{5} = \frac{363}{5} = 72\frac{3}{5}$$

$$\left(4,1 - \frac{1}{6}\right) \times 3 - \frac{2}{5} = \frac{57}{5} = 11\frac{2}{5}$$

$$\left(\frac{1}{3} - \frac{1}{4}\right) \times 5 + \frac{2}{5} = \frac{49}{60}$$

$$5,9 \times 20 \div 4 - 2\left(2,9 + \frac{2}{3}\right) = \frac{671}{30} = 22\frac{11}{30}$$